


Version A: Part II 

 

1. Oxygen is the limiting reagent. 1.67x 102 g of CO2 is produced. 

 

2. 2Na3PO4 (aq) + 3Ca(NO3)2 (aq)                        6NaNO3 (aq) + Ca3(PO4)2 (s) (molecular 

equation) 

 

6Na+ (aq) +2PO4
3- (aq)+3Ca2+(aq) + 6NO3- (aq)             6Na+ (aq) + 6NO3

- (aq) +Ca3(PO4)2 (s) 

(total ionic) 

 

3Ca2+(aq) + 2PO4
3- (aq)                       Ca3(PO4)2 (s) (net ionic) 

 

Na+ and NO3
-1 are spectator ions. 

 

3. -4.6 x 10-19 J ; energy is released. 

 

4. + 226.6 kJ 

 

5. Tetrahedral, sp3, non-polar 

 

6. PTotal = 3.27 atm; PO2 = 1.72 atm; PCO2 = 1.55 atm 

 


